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SOCIOLOGY

lekt'kkL=klekt'kkL=klekt'kkL=klekt'kkL=klekt'kkL=k
Time allowed : 3 hours ] [ Maximum marks: 100

fu/kkZfjr le; % 3 ?k.Vs ] [  vf/kdre vad % 100

General Instructions :

(i) There are 29 questions in all.

(ii) All questions are compulsory.

(iii) Questions No. 1-14 are of 2 marks each, to be answered in about 30 words.

(iv) Questions No. 15-26 are of 4 marks each, to be answered in about 75-80 words.

(v) Questions No. 27 - 29 are of 8 marks each, to be answered in about 200 words.

(vi) Answers should be precise and to the point.

lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %

(i) iz'u&i=k esa dqy 29 iz'u gSaA

(ii) lHkhlHkhlHkhlHkhlHkh iz'u vfuok;Z gSaA

Roll No.

Series SHC/1 Code No. 62/1

� Please check that this question paper contains 4 printed pages.

� Code number given on the right hand side of the question paper should be written on
the title page of the answer-book by the condidate.

� Please check that this question paper contains 29 questions.

� Please write down the serial number of the question before attempting it.

� Ñi;k tk¡p dj ysa fd bl iz'u&i=k esa eqfnzr i`"B 4 gSaA

� iz'u&i=k esa nkfgus gkFk dh vksj fn, x, dksM uEcj dks Nk=k mÙkj&iqfLrdk ds eq[k&i`"B ij fy[ksaA

� Ñi;k tk¡p dj ysa fd bl iz'u&i=k esa 29 iz'u gSaA

� Ñi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ks aAÑi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ks aAÑi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ks aAÑi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ks aAÑi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ks aA
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(iii) iz'u la[;k 1-14 rd nks&nks nks&nks nks&nks nks&nks nks&nks vadksa ds iz'u gSaA izR;sd iz'u dk mÙkj yxHkx 30 'kCnksa esa

nhft,A

(iv) iz'u la[;k 15-26 pkj&pkjpkj&pkjpkj&pkjpkj&pkjpkj&pkj vadksa ds iz'u gSaA izR;sd iz'u dk mÙkj yxHkx 75-80 'kCnksa esa

nhft,A

(v) iz'u la[;k 27-29 vkB&vkBvkB&vkBvkB&vkBvkB&vkBvkB&vkB vadksa ds iz'u gSaA izR;sd iz'u dk mÙkj yxHkx 200 'kCnksa esa

nhft,A

(vi) vkids mÙkj lqfuf'pr rFkk iz'u ds vuqdwy gksus pkfg,A

1. What is a metropolis ? 2

ekuo 'kjhj esa ,fiXykWfVl ¼d.BPNn½ dk D;k egRo gS \

2. Identify main religious communities of India. ½×4 = 2

Hkkjr ds izeq[k /kkfeZd leqnk;ksa dh igpku crkb,A

3. What do you understand by elementary education ? 2

izkjafHkd f'k{kk ls D;k rkRi;Z gS \

4. Define a social institution. 2

lkekftd laLFkk dks ifjHkkf"kr dhft,A

5. What is over-population ? 2

vR;f/kd tula[;k ls D;k rkRi;Z gS \

6. What are the two houses of parliament ? Whom do they represent ? 1+1 = 2

laln~ ds nks lnu dkSu&dkSu ls gSa \ os fdudk izfrfuf/kRo djrs gSa \

7. Define ‘law’. 2

^fof/k* dh ifjHkk"kk fyf[k,A

8. Who are affines ? 2

fookg&lacaf/k fdUgsa dgrs gSa \

9. Identify four examples of cross-cousins. ½×4 = 2

eesjs&QqQsjs HkkbZ&cguksa ds pkj mnkgj.k nhft,A

10. What is social deprivation ? 2

lkekftd oapu dk D;k vk'k; gS \

11. What is westernization ? 2

ik'pkR;hdj.k fdls dgrs gSa \
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12. Identify some mechanisms of social control. 2

lkekftd fu;a=k.k ds dqN izØeksa dks le>kb,A

13. Define cognates. 2

ltkrh; cka/ko dh ifjHkk"kk nhft,A

14. What is a social faction ? 2

lkekftd xqV fdls dgrs gSa \

15. What is material culture ? Distinguish it from non-material culture. 2+2=4

HkkSfrd laLÑfr D;k gS\ vHkkSfrd laLÑfr ls bldk varj Li"V dhft,A

16. Define ‘authority’. Identify various types of authority as understood in sociology. 2+2=4

^izkf/kdkj* ¼vFkkWfjVh½ dks ifjHkkf"kr dhft,A lekt'kkL=k esa fofo/k izdkj ds izkf/kdkjksa
dk mYys[k dhft,A

17. What is a ‘lobby’ ? Distinguish it from pressure group. 2+2=4

leFkZd oxZ ¼ykWch½ dk D;k rkRi;Z gS\ ;g ncko lewg ls fdl izdkj fHké gS\

18. ‘Marriage by exchange’ and ‘marriage by elopement’ are two of the various
forms of marriage among the tribals in India. Write a note on these two. 2+2=4

Hkkjr ds vkfnokfl;ksa esa nks izdkj ds fookg izpfyr gSa & ^fofue; fookg* vkSj ^lgiyk;u
fookg*A bu nksuksa ij ,d fVIi.kh fyf[k,A

19. Explain historical or cultural approach to the study of Indian society. 2+2=4

Hkkjrh; lekt ds v/;;u ds fy, ,sfrgkfld vFkok lkaLÑfrd n`f"Vdks.kksa dks Li"V dhft,A

20. Write a note on the twin problem of ‘indebtedness’ and ‘land alienation’ faced
by the scheduled tribes. 2+2=4

vuqlwfpr tutkfr;ksa }kjk Hkksxh tk jgh nks leL;kvksa & ^_.kxzLrrk* rFkk ^Hkwfe laØe.k*
¼,fy;us'ku½ ij ,d fVIi.kh fyf[k,A

21. Describe the role of legislation in bringing about social change in India. Give
examples. 3+1=4

Hkkjr esa lkekftd ifjorZu ykus esa fo/kkf;dk dh Hkwfedk dk o.kZu dhft,A mnkgj.k Hkh
nhft,A

22. Write a short note on Jainism in India. 4

Hkkjr esa tSuokn ij ,d NksVh fVIi.kh fyf[k,A

23. Highlight the adverse potentials of globalization in India. 4

Hkkjr esa HkweaMyhdj.k dh izfrdwy laHkkoukvksa dks Li"V dhft,A



462/1

24. Write a short note on ‘Doordarshan’. 4

^nwjn'kZu* ij ,d y?kq fVIi.kh fyf[k,A

25. What are organized crimes ? Discuss their incidence in India. 2+2 = 4

laxfBr vijk/k fdUgsa dgrs gSa\ Hkkjr esa ,slh ?kVukvksa ij izdk'k Mkfy,A

26.  Define and distinguish between caste and class. 1+1+2 = 4

tkfr vkSj oxZ dks ifjHkkf"kr dhft, vkSj muesa varj Li"V dhft,A

27. Discuss the importance of ‘right to equality’ and ‘right to freedom’ as provided

in the Indian Constitution. 2+3+3=8

OR

What is a reform movement ? Briefly discuss the aims and objectives of two

reform movements in the recent phase of the Indian history.

Hkkjrh;@lafo/kku }kjk iznÙk ^lekurk ds vf/kdkj* vkSj ^Lora=krk ds vf/kdkj* ds egÙo

dk foospu dhft,A

vFkokvFkokvFkokvFkokvFkok

lq/kkj vkanksyu fdls dgrs gSa \ Hkkjrh; bfrgkl ds vk/kqfud nkSj esa fdUgha nks lq/kkj

vkanksyuksa ds y{;ksa vkSj mn~ns';ksa ij la{ksi esa izdk'k Mkfy;sA

28. Highlight some of the well known tribal movements in the recent phase of the

Indian history. 8

OR

Elucidate the distinctive features of Budhism.

Hkkjrh; bfrgkl ds vk/kqfud nkSj esa dqN izfl) vkfnoklh vkUnksyuksa ij izdk'k Mkfy;sA

vFkokvFkokvFkokvFkokvFkok

ckS) /keZ dh dqN /oalkRed izo`fÙk;ksa dks Li"V dhft,A

29. Identify the main constituents of Islamic faith. 8

OR

Discuss the broad profile of the rural class system in India.

bLykeh fo'okl ds eq[; ?kVdksa dh igpku Li"V dhft,A

vFkokvFkokvFkokvFkokvFkok

Hkkjr esa xzkeh.k oxZ O;oLFkk dh O;kid :ijs[kk dk foospu dhft,A


